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sound “ee” @ sound “n” @ sound “00”
e.g. tree e.g. never e.g. moon
weird knee truth
protein kneel July
receive know ruin
either knew February
neither knot instrument

a) Copy the list words out into three columns as above. Write the sound (in bold) in a
different colour, or underline it.

b) Choose eight list words and use them in sentences. You may put more than one list
word into a sentence.

¢) Write the homophones of knot and know.

d) Put as many list word verbs into the past tense as you can by adding “ed” or “d”.
e) “Tr”is a phonic blend, e.g. truth. Write three other words that begin with “tr”.

f) What sound does “ei” make in weigh and sleigh?

g) Using as many of the list words as you can, write a sentence that makes sense. (Keep
a record of how many you use and try to beat it next time!)

h) Write any word that rhymes with knew, truth, knot and weird. (Note: The spelling
can be different.)

i)  Which list words look like they should rhyme with these words but don‘t2
truly, how, entree, vein.

i) Imagine you are creating a crossword. Choose any five list words and write a clue

for each.

k) Inyour pads, write out the word(s) highlighted in bold in this week’s Our Loopy
Language.

I) Copy this paragraph out exactly and fill appropriate list words into the spaces.
Weall aliens are , butin when it is hot in Australia, they
sit by the fire or in a hot bath to keep warm.

m) Using the code below, write the code numbers for February, know, protein and
truth.
a= b= c=3 d=4 e=5 f=6 g=7 h=8 |I=
i=10 k=11 1=12 m=13 n=14 o0=15 p=16 q=17 r=18
s=19 t=20 uv=21 v=22 w=23 x=24 y=25 z=26

In weird the “ei” is an “ee” sound, in weigh it is “ay”, in height it is “i-e”, in leisure it

is “e”, in forfeit it is an “i”, and in either and neither it can be “ee” or “i-e”.
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Put your words into Quizlet. (Don’t forget to save) 


Begin Task A in your literacy books.












